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=E(1) RUI—®ET7RXI7ILHTE t=bcm ®RE Q) BEEMETAIY(3) t=bom
ABRER No. 0 No.0+4.0  No.0+22.4 No.0+22.9 No.0+23.8 No.0+24.3 BEkig No. 0 No. 0+21.4 No.0+23.2 No.0+31.3
e Ashiz m 550 | 3.30 | 3.50 | 3.00 | 3.00 | 3.50 SRR R Ashix m 3.65 | 3.05 | 3.55 | 3.55
TEEEIE R0 Fgtlon] m 5.50 | 3.30 | 3.50 | 3.00 | 3.00 | 3.50 FEEEEIE B-40 Fytlon| m 3.65 | 3.05 | 3.55 | 3.55
=E ) t=5cmj m 5.50 3.30 3.50 3.00 3.00 3.50 =E () t=50mj m 3. 65 3.05 3.55 3.55
ABRER No. 1 No. 1+13.2 No. 1+13.7 No.1+14.5 No.1+15.0 No.1+33.0
T Ashiz m 3.60 | 3.65 | 3.20 | 3.25 | 3.75 | 4.00
TEEEIE RC-40, Tigt=den|  m 3.60 | 3.65 | 3.20 | 3.25 | 3.75 | 4.00
=B Q) t=bcm m 3.60 | 3.65 | 3.20 | 3.25 | 3.75 | 4.00

Tk
S=1:20

ABR#R

(=]
(Yol

B (1)

RYI—HEF7RI7I)L b THE 2, 350kg/m3 t=bcm

AsZLH (PK-3)

TEEEIE #EH RC-40 Fijt=2cm

BEX #%

17

es7s

0

=[E Q)

BAZHETAIY (13) 2, 350kg/m3 t=5cm

AsZL#I (PK-3)
THEEEIE ##EH RC-40 Fiyt=2cm

X OREEIFAY A XERTET D,

SH4 FEIERE LS

T F 8 | PemATEbRERKE @S TE
HmIERA T EERTAT B A
NEQESE | TER SEHFEE TEE
® R Mx |HEES 11
EHEFL TR TE S




